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 Python 
CONST n = 4 
count = 0 
minimum = 0 
FOR I = 1 TO n 
  INPUT x 
  IF x mod 6 = 0 THEN 
    count = count + 1 
    IF x > minimum THEN 
      minimum = x 
    END IF 
  END IF 
NEXT I 
IF count> 0 THEN 
  PRINT count 
  PRINT minimum 
ELSE 
  PRINT "NO" 
END IF 

n = 4 
count = 0 
minimum = 0 
for i in range(1, n+1): 
    x = int(input()) 
    if x % 6 == 0: 
        count += 1 
        if x > minimum: 
            minimum = x 
if count > 0: 
    print(count) 
    print(minimum) 
else: 
print("NO") 

24 
 



 
 

  
 
 
 n = 4 
i, x, minimum, count 

  count := 0 
  minimum := 0 

i  1 n 
x 
mod(x, 6) = 0  

count := count + 1 
 x > minimum  

        minimum:= x 
 
 

 
count> 0  
count,  
 minimum 
 
 "NO" 

 
 

const n = 4; 
var i, x, minimum, count: integer; 
begin 
  count := 0; 
  minimum := 0; 
  for i := 1 to n do  
  begin 
    read(x); 
    if x mod 6 = 0 then 
    begin 
      count := count + 1; 
      if x > minimum then 
        minimum := x 
    end 
  end; 
  if count > 0 then 
  begin 
    writeln(count); 
    writeln(minimum); 
  end 
  else 
    writeln('NO') 
end. 

 
#include <stdio.h> 
#define n 4 
 

int main() 
{ 
  int i, x, minimum, count; 
  count = 0; 
  minimum = 0; 
  for (i = 1; i <= n; i++)  
  { 
    scanf("%d",&x); 
    if (x % 6 == 0) 
    { 
      count++; 
      if (x > minimum) 
        minimum = x; 
    } 
  } 
  if (count > 0) 
  { 
    printf("%d\n", count); 
    printf("%d\n", minimum); 
  } 
  else 
    printf("NO\n"); 
  return 0; 
} 
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 Python 

CONST N AS INTEGER = 20 
DIM A (1 TO N) AS LONG 
DIM I AS LONG, 
 J AS LONG, 
 K AS LONG 
 
FOR I = 1 TO N  
    INPUT A(I) 
NEXT I 
... 
 
END 

#   
#   
#  j  k 
a = [] 
n = 20 
for i in range(0, n): 
    a.append(int(input())) 
... 

  
 
 
N = 20 

a[1:N] 
i, j, k 

 1 N 
 a[i] 

 
    ... 
 

 

const 
    N = 20; 
var 
a: array [1..N] of longint; 
    i, j, k: longint; 
begin 
    for i := 1 to N do  
        readln(a[i]); 
    ... 
 
end. 

 
#include <stdio.h> 
#define N 20 
int main() { 
long a[N]; 
long i, j, k; 
    for (i = 0; i<N; i++) 
        scanf("%ld", &a[i]); 
    ... 
    return 0; 
} 
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k := 0; 
for i := 1 to N-2 do 
    if (a[i+1]=a[i]*a[i+2]) then 
        inc(k); 
writeln(k); 

 
k := 0; 

 i  1  N-2 
 a[i+1]=a[i]*a[i+2] 

 
k := k+1 

 
 

k 

 
K = 0 
FOR I = 2 TO N-1 
    IF A(I)=A(I-1)*A(I+1) THEN  
        K = K+1 
    END IF 
NEXT I 
PRINT K 

 
k = 0; 
for (i = 1; i<N-1; i++) 
    if (a[i]==a[i-1]*a[i+1]) 
        k++; 
printf("%ld", k); 



   
 

 
 Python 

k = 0 
for i in range(1, n – 1): 
    if (a[i]==a[i-1]*a[i+1]): 
        k += 1 
print(k) 

  
. 

1.  
, . 

2. . 
3. , 

, .  
,   

.  
,  

. 
 

,  
;  

 

 

,  
  

2 



 

 
,  2 . 

,  
:  

1)  
,  1  N); 

2)  
; 

3)  
; 

4)  
; 

5) ,  
; 

6) ; 
7) ; 
8) ,  

; 
9) ; 
10)  ( ,  

while) ; 
11)  

1 

, . 1–11, ,  
 (  

) 

0 

 2 
 
 



   
 

 
 
 

 
 

, , . , 
,  

.  – , 
.  

, ,  
, . .  

. ,  
. , .  
. 

. : { , , , 
, , , }. 

 ( ). 
 ( ). 

. 
.   –  

, , .  
 – ,   
,  

.  ,  
,  

, . 
  

,  
, .  

. 
 1. ) ,  

 { }. . 
) ,  

, } (   
33 , .  99 ;  44 ,  

.  176 ). . 
 2.  1  

, . 
.  

 
 3.  { , , , , 

, }.  
?  

, .  
,  

. ,  
.  

 
 

 

 
 

26 
 



 

 
, ) 

. ,  
. ,  

;  – . ,  
. 

, , ; 
, . 

 1. ) .  
. . 

 10 , .  
. 

) . .  
.  99 

.  1- , 3- , 5- . .  99-  
, , , . 

 2. . 
, ;  

. ,  
. , .  

;  8 ,  
. . 

.  
,  

. 

 3. .  
 1  1.  

. .  
. 

 

-
 

  

1-  
 
 
-
 

 
) 

1-  
 

 
 

) 

2-  
 
 
-
 

 
) 

2-  
 

 
 

) 

3-  
 
 
-
 

 
) 

3-  
 

 
 

) 

    
  

    ] 

      
. 1. .  



   
 

, . , 
.  –  

. .  
. 

 

. 1. .  
, . , 

.  –  
. .  

. 
 

  
 

.  
.  

 ( . ). 
,  

,  
. 

 1 ,  
: 1  1 . 

 1 ,   
 ; 
    

 ,  
. 

 1 ,   
 ;  
    

 ,  
. 

 2 ,  
,  

 



 

.  
 3 ,  

.  
,  

,  
. 

 1, 2  3. 3 
,  3 ,  

. 
1.  3.  
2.  1  2. 

2 

,  3  2 ,  
. 

1.  1.  
2.  2. 

1 

,  1, 2 
 3  

0 

 3 
 
 



   
 

 
 
 

 
 

 N  
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,  

). ,  
 57. 

 
 N (1  N  1000). 

 N  
,  10 000. 

:  
,  57. 

: 
4 
3 
6 
19 
38 

: 
4 

.  6  
: 3·6, 3·19, 3·38, 6·19, 6·38, 19·38 ( : 18, 57, 114, 114, 228, 722). 

 57  4  (3·19=57; 3·38=114; 6·19=114; 6·38=228). 
 

. 
,  

 N  k  
 k . 

, ,  
,  1  

 N. 
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 57,  
 ( ). 
.  57. 
.  57, . 
.  57,  

 3,  –  19. 
.  57 

, , : 
 57)  

 3,  –  19). 
, 

. 

,  57, 3  19,  
: 

1) n57 – ,  57; 
2) n19 – ,  19,  57; 
3) n3 – ,  3,  57. 

. . 
. 

, ,  
 n57·(n57 – 1)/2. 

, ,  
 n57·(N – n57).  

, ,  
 n3·n19. 

  
n57·(n57 – 1)/2 + n57·(N – n57) + n3·n19. 

 
 (  PascalABC) 



   
 

 
 1. .  

   
var  
    N: integer;     { } 
a: integer;     { } 
n57, n19, n3: integer; 
k57: integer;    { } 
i: integer; 
 
begin 
  readln(N); 
  n57:=0; n19:=0; n3:=0; 
  for i:=1 to N do begin 
    readln(a); 
    if a mod 57 = 0 then  
      n57 := n57+1 
    else if a mod 19 = 0 then  
      n19 := n19 + 1 
    else if a mod 3 = 0 then  
n3 := n3 + 1; 
  end; 
  k57 := n57*(n57-1) div 2 + n57*(N-n57) + n3*n19; 
  writeln(k57) 
end. 
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. .  
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n3, n19, n57).  
,  

. 
. 

,  n3  n19  p3  p19 – 
,  3  19.  

n3 = p3 – n57  n19 = p19 – n57, : 
n57·(n57 – 1)/2 + n57·(N – n57) + (p3 – n57)·(p19 – n57). 

 ( !) – , 



 

 57, –  n3+n19+nx,  nx – 
,  3,  19.  nx  

.  
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 2. .  

  , ,  
 1 

N57 = 0 
N3 = 0 
N19 = 0 
NX = 0 
INPUT N 
FOR I = 1 TO N 
  INPUT A 
IF A MOD 57 = 0 THEN 
    N57 = N57 + 1 
  ELSE 
    IF A MOD 19 = 0 THEN 
      N19 = N19 + 1 
    ELSE 
      IF A MOD 3 = 0 THEN 
        N3 = N3 + 1 
      ELSE NX = NX + 1 
      END IF 
    END IF 
  END IF 
NEXT I 
K57 = N57*(N57-1)\2 + N57*(N3+N19+NX) + N3*N19 
PRINT K57 
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; 
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. 
 

3 ,  
,  

 ( ,  
,  STL  C++  

) 
,  3  4 . 

, . 
 

,  3 . 
,  

4 , . 
2 ,  

 (  
),  

.  
: 

k := 0; 
fori := 1 ton - 1 do 
for j := i + 1 to n do 
    if a[i]*a[j] mod 57 = 0 then  
      k := k + 1; 
writeln(k); 

 
,  

a[i]*a[i]  
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